\i/ Exam Recommend!! Get the Full FC0-U61 dumps in VCE and PDF From SurePassExam
I | SurePass https://www.surepassexam.com/FC0-U61-exam-dumps.html (146 New Questions)

CompTIA
Exam Questions FC0-U61

CompTIA IT Fundamentals+ Certification Exam

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



7 Exam Recommend!! Get the Full FC0-U61 dumps in VCE and PDF From SurePassExam
l |Sure https://www.surepassexam.com/FC0-U61-exam-dumps.html (146 New Questions)

NEW QUESTION 1
Which of the following can a company use to protect its logo?

A. Trademark

B. Copyright

C. Domain name
D. patent

Answer: A

Explanation:

A trademark is the best option for a company to protect its logo. A trademark is a name, symbol, logo, or slogan that identifies a product or service and
distinguishes it from others in the market. A trademark grants the owner the exclusive right to use the mark and to prevent others from using confusingly similar
marks. A trademark can be registered with the appropriate authority to obtain legal protection and enforcement. A trademark can last indefinitely as long as it is
used and renewed periodically. A trademark can also be indicated by the symbols ™ or ®. A copyright is not suitable for protecting a logo, as it only protects original
works of authorship, such as books, music, movies, or software. A domain name is not suitable for protecting a logo, as it only identifies a website or an email
address on the internet. A domain name can be registered with a domain name registrar to obtain exclusive use of the name for a certain period of time. A domain
name can also be trademarked if it meets the criteria for trademark protection. A patent is not suitable for protecting a logo, as it only protects inventions or
processes that are new, useful, and non-obvious. References: The Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 8: Software
Development Concepts

NEW QUESTION 2
Which of the following intellectual property concepts BEST represents a legally protected slogan of a business?

A. Contract
B. Patent

C. Copyright
D. Trademark

Answer: D

Explanation:

A trademark is a type of intellectual property that protects a word, phrase, symbol, or design that identifies and distinguishes the source of goods or services of one
party from those of others. A slogan of a business is an example of a trademark that can be legally protected from unauthorized use by other parties. A trademark
can be registered with the appropriate authority to obtain exclusive rights and benefits. References : The Official CompTIA IT Fundamentals (ITF+) Study Guide
(FCO0-U61), page 211.

NEW QUESTION 3
Within a database, which of the following would be the best access method to use to display a subset of a table?

A. UPDATE
B. DROP

C. SELECT
D. INSERT

Answer: C

Explanation:

The SELECT statement is used to query a database and retrieve a subset of data that matches the specified criteria. For example, SELECT * FROM Customers
WHERE City = ‘London’ will return all the records from the Customers table where the City column is equal to ‘London’. The SELECT statement can also be
used to join multiple tables, perform calculations, sort and group data, and apply filters and functions. The SELECT statement is one of the most commonly used
SQL commands and is essential for manipulating and analyzing data in a database.

NEW QUESTION 4
Which of the following would be the best reason to implement a host firewall?

A. To prevent external access

B. To prevent hardware failures

C. To prevent the removal of software
D. To prevent wiretapping

Answer: A

Explanation:

A host firewall is a software program that runs on a computer or device and monitors and controls the incoming and outgoing network traffic based on predefined
rules. A host firewall can help prevent external access from unauthorized or malicious sources, such as hackers, malware, or network worms. A host firewall can
also block unwanted or unnecessary traffic from reaching the computer or device, which can improve performance and security. A host firewall can be configured
to allow or deny traffic based on various criteria, such as port number, protocol, application, source address, destination address, or content. A host firewall can
also log or alert the user about any suspicious or blocked activity.

NEW QUESTION 5
An application is hosted on a local network. Which of the following descriptions is correct?

A. LAN access Is required.

B. The application exists locally.
C. Files are saved in the cloud.
D. Internet access Is required.
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Answer: A

Explanation:

LAN access is required for an application that is hosted on a local network. A local network, also known as a local area network (LAN), is a group of devices that
are connected within a limited geographic area, such as a home, an office, or a school. A LAN allows the devices to communicate and share resources, such as
files, printers, or applications. An application that is hosted on a local network means that the application is installed and running on one or more devices within the
LAN, and can be accessed by other devices within the same LAN. However, to access the application, the device must be connected to the LAN, either by a wired
or wireless connection. The application does not exist locally on the device that accesses it, unless it is also installed on that device. The application does not save
files in the cloud, unless it has a feature that allows it to sync with a cloud service. The application does not require internet access, unless it needs to
communicate with external servers or services outside the LAN. References: CompTIA IT Fundamentals (ITF+) Study Guide: Exam FC0-U61, Second Edition,
Chapter 3: Infrastructure, pages 83-84

NEW QUESTION 6
Which of the following database structures is the most granular?

A. Column
B. Field
C. Record
D. Table

Answer: B

Explanation:

A field is the most granular database structure among the options given. A field is a single unit of data that represents an attribute of an entity, such as name, age,
or address. A field can have a specific data type, such as text, number, or date. A column is a collection of fields that share the same data type and name, such as
the name column in a table. A record is a collection of fields that represent an instance of an entity, such as a person, a product, or an order. A record can be
identified by a primary key, which is a unique value for each record. A table is a collection of records that represent the same type of entity, such as the customer
table or the product table. References: CompTIA IT Fundamentals (ITF+) Study Guide: Exam FC0-U61, Second Edition, Chapter 5: Database Fundamentals and
Security Concepts, page 156

NEW QUESTION 7
The broadcast signal from a recently installed wireless access point is not as strong as expected. Which of the following actions would BEST improve the signal
strength?

A. Update from 802.11b to 802.11g.

B. Ensure sources of EMI are removed.
C. Enable WPA2-Enterprise.

D. Use WiFi Protected Setup.

Answer: B

Explanation:

The broadcast signal from a wireless access point can be affected by various factors, such as distance, obstacles, interference, and configuration. One of the
possible causes of weak signal strength is electromagnetic interference (EMI), which is the disruption of wireless communication by devices or objects that emit
electromagnetic waves, such as microwaves, cordless phones, power lines, or fluorescent lights. To improve the signal strength, the user should ensure that
sources of EMI are removed or relocated

away from the wireless access point and the wireless devices78. References:= CompTIA IT Fundamentals

(ITF+) Study Guide, 2nd Edition, Chapter 4. Networking Concepts4; How to Improve Your Wireless Network Performance - HP® Tech Takes9

NEW QUESTION 8
Which of the following data types should a database administrator use to store customer postal codes?

A. Float

B. String
C. Boolean
D. Integer

Answer: B

Explanation:

A postal code is a string of alphanumeric characters that identifies a specific location. A string data type is used to store text or character data, such as names,
addresses, or postal codes. A float data type is used to store decimal numbers, such as prices or weights. A boolean data type is used to store logical values, such
as true or false. An integer data type is used to store whole numbers, such as counts or quantities. References: The Official CompTIA IT Fundamentals (ITF+)
Student Guide (Exam FC0-U61), Chapter 6: Database Fundamentalsl

NEW QUESTION 9
A software developer develops a software program and writes a document with step-by-step instructions on how to use the software. The developer wants to
ensure no other person or company will publish this document for public use. Which of the following should the developer use to BEST protect the document?

A. Patent

B. Trademark
C. Watermark
D. Copyright

Answer: D

Explanation:
A document that explains how to use a software program is an example of a written work that expresses the original ideas of the developer. A copyright is a legal
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protection that grants the developer the exclusive right to publish, distribute, and control the use of the document. References:= CompTIA IT Fundamentals
(ITF+) Study Guide, 2nd Edition, Chapter 9: Intellectual Propertyl

NEW QUESTION 10
Which of the following would indicate the FASTEST processor speed?

A. 3.6GHz
B. 3.6MHz
C. 3.6Mbps
D. 3.6Gbps

Answer: A

Explanation:

Processor speed is measured in hertz (Hz), which is the number of cycles per second that the processor can perform. The higher the processor speed, the faster
the processor can execute instructions. Gigahertz (GHz) is equal to one billion hertz, while megahertz (MHz) is equal to one million hertz. Megabits per second
(Mbps) and gigabits per second (Gbps) are units of data transfer rate, not processor speed. Therefore, 3.6GHz would indicate the fastest processor speed among
the options given. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 3: Computing Components, page 114.

NEW QUESTION 10
Which of the following is an example of information a company would ask employees to handle in a sensitive manner?

A. Customer date of birth

B. The first and last name of the Chief Executive Officer (CEQO)
C. Customer service number

D. Company social media screen name

Answer: A

Explanation:

Customer date of birth is an example of information that a company would ask employees to handle in a sensitive manner. Sensitive information is any information
that can identify or relate to a specific person, such as name, address, phone number, email, social security number, date of birth, etc. Sensitive information can
also include financial, medical, legal, or personal records of a person. Sensitive information should be handled with care and confidentiality by employees to
protect the privacy and security of the customers and the company. Employees should follow the company’s policies and procedures for handling sensitive
information, such as encrypting, locking, shredding, or disposing of it properly. References : The Official CompTIA IT Fundamentals (ITF+) Study Guide
(FC0-U61), page 205.

NEW QUESTION 13
A technician is concerned that sensitive data transmitted over the Internet can be intercepted and viewed during a MITM attack. Which of the following should the
technician enable to reduce the risk?

A.DLP
B. ACL
C.TLS
D. IPS

Answer: C

Explanation:

TLS (Transport Layer Security) is a protocol that should be enabled to reduce the risk of a MITM

(man-in-the-middle) attack. A MITM attack is a type of cyberattack where an attacker intercepts and alters the communication between two parties without their
knowledge. A MITM attack can compromise the confidentiality, integrity, and authenticity of the data being transmitted. TLS is a protocol that provides encryption,
authentication, and integrity for data communication over the Internet. TLS can prevent a MITM

attack by encrypting the data to make it unreadable by the attacker, authenticating the identities of the parties to prevent impersonation, and verifying the integrity
of the data to detect any tampering. References : The Official CompTIA IT Fundamentals (ITF+) Study Guide (FC0-U61), page 206.

NEW QUESTION 16
Which of the following is the most secure fllesystem?

A. FAT32
B. NFS

C. NTFS
D. exFAT

Answer: C

Explanation:

NTFS stands for New Technology File System, which is the most secure file system among the given options. NTFS is a file system that was developed by
Microsoft for Windows operating systems. NTFS supports features such as encryption, compression, permissions, quotas, and auditing, which enhance the
security and performance of the file system. FAT32 stands for File Allocation Table 32, which is a file system that was developed by Microsoft for older versions of
Windows and DOS operating systems. FAT32 does not support encryption, compression, permissions, quotas, or auditing, and it has limitations on the size of files
and patrtitions that it can handle. NFS stands for Network File System, which is a file system that was developed by Sun Microsystems for Unix and Linux operating
systems. NFS allows users to access files on remote servers as if they were local files, but it does not support encryption or compression. exFAT stands for
Extended File Allocation Table, which is a file system that was developed by Microsoft for flash drives and other removable media. exFAT supports larger files and
partitions than FAT32, but it does not support encryption, compression, permissions, quotas, or auditing. References: The Official CompTIA IT Fundamentals
(ITF+) Student Guide (Exam FC0-U61), Chapter 4: Operating System Fundamentals

NEW QUESTION 18
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Which of the following is the BEST option for a developer to use when storing the months of a year and when performance is a key consideration?

A. Array

B. Vector
C. List

D. String

Answer: A

Explanation:

An array is a type of data structure that stores multiple values of the same data type in a fixed-size sequence. An array would be the best option for a developer to
use when storing the months of a year and when performance is a key consideration because an array allows fast access to any element by using its index
number. A vector, a list, and a string are not types of data structures that offer fast access to elements or store multiple values of the same data type in a fixed-size
sequence. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 4: Programming Concepts and Data Structures, page
147.

NEW QUESTION 20
Which of the following would MOST likely use an ARM processor?

A. Laptop
B. Tablet
C. Workstation
D. Server

Answer: B

Explanation:

An ARM processor is a type of processor that uses a reduced instruction set computer (RISC) architecture, which means it executes fewer and simpler instructions
than other types of processors. An ARM processor is designed to be energy-efficient, low-cost, and suitable for mobile devices. A tablet would most likely use an
ARM processor because it is a mobile device that needs to conserve battery power and perform basic tasks. A laptop, a workstation, and a server are not devices
that would most likely use an ARM processor because they are not mobile devices or they need to perform more complex tasks. References: CompTIA IT
Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 3: Computing Components, page 115.

NEW QUESTION 23
A function is BEST used for enabling programs to:

A. hold a list of numbers.

B. be divided into reusable components.
C. define needed constant values.

D. define variables to hold different values.

Answer: D

Explanation:

A function is best used for enabling programs to define variables to hold different values. A function is a named block of code that performs a specific task or
operation. A function can have one or more parameters, which are variables that hold the input values for the function. A function can also have a return value,
which is the output value that the function produces. A function can be called or invoked by other parts of the program to execute the code inside the function. A
function can help programs to avoid repeating the same code, improve readability and modularity, and reduce errors and complexity. References : The Official
CompTIA IT Fundamentals (ITF+) Study Guide (FC0-U61), page 133.

NEW QUESTION 24
A user is selecting software to use to prepare handouts for a presentation. The user would like the information to be easy to format and printer friendly. Which of
the following software types should the user select?

A. Word processing

B. Spreadsheet

C. Text editor

D. Visual diagramming

Answer: A

Explanation:

The software type that the user should select to prepare handouts for a presentation that are easy to format and printer friendly is word processing. Word
processing is a type of software that allows users to create, edit, format, and print text documents, such as letters, reports, resumes, etc. Word processing software
provides features such as fonts, styles, margins, alignment, bullets, numbering, tables, images, etc., that enable users to customize the appearance and layout of
their documents. Word processing software also provides features such as spell check, grammar check, word count, etc., that enable users to improve the quality
and accuracy of their documents. Word processing software can also support various file formats and printing options that enable users to save and print their
documents easily and conveniently. Examples of word processing software include Microsoft Word, Google Daocs, LibreOffice Writer, etc. Spreadsheet is not the
software type that the user should select to prepare handouts for a presentation that are easy to format and printer friendly, but rather a type of software that allows
users to create, edit, format, and print numerical data in rows and columns, such as budgets, invoices, charts, etc. Spreadsheet software provides features such as
formulas, functions, graphs, pivot tables, etc., that enable users to perform calculations, analysis, or visualization on their data. Spreadsheet software can also
support various file formats and printing options that enable users to save and print their data easily and conveniently. Examples of spreadsheet software include
Microsoft Excel, Google Sheets, LibreOffice Calc, etc. Text editor is not the software type that the user should select to prepare handouts for a presentation that
are easy to format and printer friendly, but rather a type of software that allows users to create, edit, or view plain text files, such as code, scripts, notes, etc. Text
editor software provides features such as syntax highlighting, search and replace, indentation, etc., that enable users to manipulate text easily and efficiently. Text
editor software does not provide features such as fonts, styles, images, etc., that enable users to customize the appearance or layout of their documents. Text
editor software can also support various file formats but not printing options that enable users to save but not print their files easily and conveniently. Examples of
text editor software include Notepad++, Sublime Text, Vim, etc.
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NEW QUESTION 25
Employee information is stored in a database. Which of the following BEST describes where all of an
employee’s information is stored?

A. Record
B. Report
C. Column
D. Procedure

Answer: A

Explanation:

A record is a collection of related fields or attributes that store information about a specific entity or object in a database. For example, an employee record would
store information such as name, ID, department, salary, etc. A record would be the best description of where all of an employee’s information is stored in a
database. A report is a formatted presentation of data from a database, not a storage unit. A column is a vertical arrangement of fields or attributes that store the
same type of information for different records, not all of an employee’s information. A procedure is a set of instructions or commands that perform a specific task
on a database, not a storage unit. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 5: Database Fundamentals,
page 193.

NEW QUESTION 26
Which of the following storage types uses platters to store data?

A. Hard drive

B. Solid-state drive
C. Optical drive

D. Flash drive

Answer: A

Explanation:

A hard drive, also known as a hard disk drive (HDD), is a type of storage device that uses one or more rotating platters coated with magnetic material to store data.
The platters are accessed by read/write heads that move across the surface of the platters as they spin. The data is stored as tiny magnetic regions on the
platters, which can be changed or read by the heads. Hard drives are non-volatile, meaning they retain data even when power is off. Hard drives offer large
storage capacity, low cost per gigabyte, and fast data transfer rates compared to other storage types. However, they are also prone to mechanical failures, noise,
heat, and physical damage

NEW QUESTION 28
A large payment website was breached recently. A user is concerned that the breach will affect account security on other sites. Which of the following password
best practices would mitigate this risk?

A. Password history

B. Password reuse

C. Password expiration
D. Password age

Answer: B

Explanation:

Password reuse is the practice of using the same password for multiple accounts or services. Password reuse would increase the risk of account security on other
sites if a large payment website was breached recently. If the attackers obtained the user’'s password from the breached website, they could try to use it to access
the user’s accounts on other sites. Password reuse should be avoided and different passwords should be used for different accounts or services. Password
history, password expiration, and password age are not password best practices that would mitigate this risk. Password history is the record of previous passwords
that a user has used for an account or service. Password expiration is the time limit for using a password before it needs to be changed. Password age is the
length of time that a password has been in use. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 8: Security
Concepts, page 308.

NEW QUESTION 33
Which of the following database concepts would MOST likely use a CSV file?

A. Data querying

B. Data reports

C. Data importing
D. Data persistence

Answer: C

Explanation:

A CSV file is caomma-separated values file that stores data in taabular format. A CSV file can be used

to import data from one database to another, or from other sources such as spreadsheets, text files, or web
pages. Data importing is the process of transferring data between different systems or formats1.

References: = CompTIA IT Fundamentals (ITF+) Study Guide, 2nd Edition, Chapter 5: Database Fundamentals2

NEW QUESTION 35
Which of the following is most likely to disclose the data collection practices of an application?

A. README.txt file
B. User's guide

C. EULA

D. Vendor website
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Answer: C

Explanation:

The most likely source that will disclose the data collection practices of an application is the EULA. EULA stands for End User License Agreement, which is a legal
contract between the software vendor and the user that defines the terms and conditions for using the software. The EULA often includes information about how
the software collects, uses, stores, and shares user data, as well as what rights and responsibilities the user has regarding their data. A README.txt file is a text
file that accompanies a software package and provides information about how to install, configure, or use the software. A README.ixt file may not disclose the
data collection practices of an application, unless it is explicitly stated by the vendor. A user’s guide is a document that provides instructions and tips on how to
use a software application effectively. A user’s guide may not disclose the data collection practices of an application, unless it is explicitly stated by the vendor. A
vendor website is a web page that provides information about a software vendor and their products or services. A vendor website may disclose the data collection
practices of an application, but it may not be as detailed or accessible as the EULA. References: The Official CompTIA IT Fundamentals (ITF+) Student Guide
(Exam FCO0-U61), Chapter 8: Software Development Conceptsl

NEW QUESTION 39
A business would like to create an employee portal that employees will have access to when they are at work. The employees will not be able to connect to the
portal from home without a VPN connection. Which of the following types of application does this describe?

A. Local application

B. Intranet application
C. Extranet application
D. Internet application

Answer: B

Explanation:

An intranet application is a type of application that is hosted on a private network and can only be accessed by authorized users within an organization. An intranet
application would best describe an employee portal that employees can access when they are at work, but not from home without a VPN connection. A VPN
(Virtual Private Network) is a technology that creates a secure and encrypted tunnel between a client device and a remote server over the Internet. A VPN can
allow employees to access the intranet application from home by connecting to the private network of the organization. Local application, extranet application, and
Internet application are not types of applications that describe an employee portal that employees can access when they are at work, but not from home without a
VPN connection. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 5: Database Fundamentals, page 199.

NEW QUESTION 43
Which of the following is an advantage of a fiat file?

A. Variety of data

B. Scalability

C. Portability

D. Multiple concurrent users

Answer: C

Explanation:

The advantage of a flat file is portability. Portability is the ability of a file or a system to be easily transferred or used on different platforms or devices. A flat file is a
type of file that stores data in plain text format with fixed fields and records. A flat file can be easily transferred or used on different platforms or devices, as it

does not require any special software or hardware to read or write the data. A flat file can also be easily imported or exported by various applications or databases.
A flat file does not have a variety of data, as it only stores data of one type or entity, such as customers, products, or orders. A flat file does not support
relationships, queries, or calculations on the data. A flat file does not have scalability, as it has limitations on the size and complexity of the data that it can store. A
flat file can become large, slow, or redundant as more data is added. A flat file does not support multiple concurrent users, as it does not have any locking or
transaction mechanisms to prevent data conflicts or errors. A flat file can only be accessed by one user at a time, or by multiple users in read-only mode.
References: The Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 6: Database Fundamentals

NEW QUESTION 45
Which of the following filesystems is compatible with the greatest number of operating systems?

A. ext4
B. FAT32
C.NTFS
D. HFS

Answer: B

Explanation:

The filesystem that is compatible with the greatest number of operating systems is FAT32. FAT32 stands for File Allocation Table 32-bit, which is a filesystem that
organizes data into clusters or groups of sectors on a storage device, such as a hard disk or a flash drive. FAT32 uses a 32-bit table to keep track of the location
and status of each cluster. FAT32 can support volumes up to 2 TB and files up to 4 GB in size. FAT32 is compatible with most operating systems, such as
Windows, Linux, Mac OS, Android, etc., as well as most devices, such as cameras, printers, game consoles, etc. FAT32 is one of the oldest and simplest
filesystems, but it also has some limitations and drawbacks, such as fragmentation, waste of space, lack of security features, etc. ext4 is not the filesystem that is
compatible with the greatest number of operating systems, but rather a filesystem that is mainly used by Linux operating systems. ext4 stands for Fourth Extended
Filesystem, which is a filesystem that organizes data into blocks or groups of sectors on a storage device. ext4 uses an inode table to keep track of the location
and attributes of each file or directory. ext4 can support volumes up to 1 EB and files up to 16 TB in size. ext4 has many features and advantages over FAT32,
such as journaling, extents, subdirectories, encryption, etc., but it also has limited compatibility with other operating systems, such as Windows or Mac OS. NTFS
is not filesystem that is compatible with greatest number of operating systems, but rather filesystem that is mainly used by Windows operating systems. NTFS
stands for New Technology File System, which is filesystem that organizes data into clusters or groups of sectors on storage device. NTFS uses Master File Table
(MFT) to keep track of location and attributes of each file or directory. NTFS can support volumes up to 256 TB and files up to 256 TB in size. NTFS has many
features and advantages over FAT32, such as journaling, compression, encryption, security, etc., but it also has limited compatibility with other operating systems,
such as Linux or Mac OS. HFS is not filesystem that is compatible with greatest number of operating systems, but rather filesystem that is mainly used by Mac OS
operating systems. HFS stands for Hierarchical File System, which is filesystem that organizes data into blocks or groups of sectors on storage device. HFS uses
catalog file to keep track of location and attributes of each file or directory. HFS can support volumes up to 2 TB and files up to 2 GB in size. HFS has some
features and advantages over FAT32, such as resource forks, aliases, etc., but it also has some limitations and drawbacks, such as fragmentation, waste of space,
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lack of security features, etc. HFS also has limited compatibility with other operating systems, such as Windows or Linux. References: The Official CompTIA IT
Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 4: Operating System Fundamentalsl

NEW QUESTION 49
Which of the following is a logical structure for storing files?

A. Folder

B. Extension
C. Permissions
D. Shortcut

Answer: A

Explanation:

A folder is a logical structure for storing files on a storage device such as a hard disk drive or a solid state drive. A folder can contain files or other folders within it.
A folder can help users to organize, group, or categorize files based on their name, type, purpose, etc. Extension, permissions, and shortcut are not logical
structures for storing files on a storage device. Extension is a suffix or identifier that indicates the format or type of a file, such as .txt, .docx, .jpg, etc. Permissions
are rules or settings that determine who can access or modify a file or a folder on a storage device. Shortcut is an icon or link that points to the location of a file or a
folder on a storage device. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 3: Computing Components, page
124.

NEW QUESTION 53
An IP address is 32 bits long. If converted to bytes, it would be:

A. 4 bytes
B. 8 bytes
C. 16 bytes
D. 64 bytes

Answer: A

Explanation:

A byte is a unit of information that consists of eight bits. A bit is a binary digit that can have a value of either 0 or 1. An IP address is 32 bits long, which means it is
composed of four groups of eight bits each. Therefore, if converted to bytes, an IP address would be four bytes long. For example, the IP address 192.168.1.1 in
binary form is: 11000000.10101000.00000001.00000001

This IP address has four groups of eight bits each, which are equivalent to four bytes. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61,
Second Edition, Chapter 6: Infrastructure Concepts, page 221.

NEW QUESTION 57
When developing a game, a developer creates a boss object that has the ability to jump. Which of the following programming concepts does jump represent?

A. Method
B. Object
C. Property
D. Attribute

Answer: A

Explanation:

A method is a programming concept that represents a function or a procedure that performs a specific task or action on an object. An object is a programming
concept that represents an instance of a class or a data type that has properties and methods. A method would best describe the ability to jump for a boss object in
game development because it is an action that the boss object can perform. Property, object, and attribute are not programming concepts that represent the ability
to jump for a boss object in game development. Property is a programming concept that represents a characteristic or a feature of an object, such as color, size, or
name. Object is a programming concept that represents an instance of a class or a data type that has properties and methods. Attribute is another term for
property in some programming languages. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 4: Programming
Concepts and Data Structures, page 143.

NEW QUESTION 62
Which of the following BEST explains the use of float over integer to store monetary values?

A. It accepts negative values.

B. It stores symbols

C. It accommodates larger values.
D. It supports decimals.

Answer: D

Explanation:

Float is a data type that can store decimal or fractional numbers, such as 3.14, 0.5, or -2.75. Float would be the best data type to use for storing monetary values
because monetary values often involve decimals, such as $1.99, 0.25,0r-5.50. Integer is a data type that can only store whole numbers, such as 1, 0, or -2. Integer
would not be suitable for storing monetary values that have decimals. The other options are not data types that can store numerical values. References: CompTIA
IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 4: Programming Concepts and Data Structures, page 146.

NEW QUESTION 64
A technician has successfully verified full system functionality after implementing the solution to a problem. Which of the following is the NEXT troubleshooting step
the technician should do?

A. Determine if anything has changed.
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B. Document lessons learned.
C. Establish a theory of probable cause.
D. Duplicate the problem, if possible.

Answer: B

Explanation:

Documenting lessons learned is the last step of the troubleshooting methodology, which is a systematic approach to solving problems. Documenting lessons
learned involves recording the problem, the solution, and the process that was followed to resolve the problem. This can help prevent future occurrences of the
same or similar problems, improve the troubleshooting skills of the technician, and provide a reference for other technicians who may encounter the same or
similar problems. Documenting lessons learned would be the next troubleshooting step the technician should do after verifying full system functionality.
Determining if anything has changed, establishing a theory of probable cause, and duplicating the problem are not steps that follow verifying full system
functionality in the troubleshooting methodology. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 9:
Troubleshooting and Operational Procedures, page 341.

NEW QUESTION 66
Given the following pseudocode:

For each apple in the basket, eat two oranges unless
it is the last apple, then eat three oranges.

If there are seven apples in the basket, which of the following would be the number of oranges a person eats?

Answer: C

Explanation:

The number of oranges a person eats would be 15 given the input (userin) of “analyst” and the following pseudocode:

Pseudocode is a simplified version of programming language that uses plain English words and symbols to describe the logic and steps of an algorithm or a
program. Pseudocode can be used to plan, design, or test a program before writing it in an actual programming language. To find the number of oranges a person
eats given the input (userin) of “analyst”, we need to follow the pseudocode line by line and evaluate the expressions or statements based on the input value.
Line 1: Declare userin as string

This line declares userin as a string variable, which means it can store text or characters. Line 2: Declare oranges as integer

This line declares oranges as an integer variable, which means it can store whole numbers. Line 3: Declare apples as integer

This line declares apples as an integer variable, which means it can store whole numbers. Line 4: Set apples =7

This line assigns the value of 7 to apples. Line 5: Set oranges = 10

This line assigns the value of 10 to oranges. Line 6: Input userin

This line asks for user input and assigns it to userin. Line 7: If userin = “analyst” then

This line checks if userin is equal to “analyst”. Since we are given that userin is “analyst”, this condition is true and we proceed to execute the next line.

Line 8: Set oranges = oranges + apples

This line adds the value of oranges and apples and assigns it back to oranges. Since oranges is 10 and apples is 7, this line sets oranges to 17.

Line 9: End if

This line marks the end of the if statement. Line 10: If userin = “manager” then

This line checks if userin is equal to “manager”. Since we are given that userin is “analyst”, this condition is false and we skip the next line.

Line 11: Set oranges = oranges - apples

This line subtracts the value of apples from oranges and assigns it back to oranges. Since this line is skipped, oranges remains 17.

Line 12: End if

This line marks the end of the if statement. Line 13: Set oranges = oranges - 2

This line subtracts 2 from oranges and assigns it back to oranges. Since oranges is 17, this line sets oranges to 15.

Line 14: Output oranges

This line displays the value of oranges, which is 15.

Therefore, the number of oranges a person eats would be 15 given the input (userin) of “analyst” and the following pseudocode. References: CompTIA IT
Fundamentals+ Study Guide: Exam FC0-U61, Second Edition, Chapter 4: Programming Concepts and Data Structures, page 142.

NEW QUESTION 68
A technician has verified full system functionality. Which of the following actions should the technician take next?

A. Question the users.

B. Determine if anything has changed.
C. Document the findings.

D. Gather Information.

Answer: C

Explanation:

Documenting the findings is the last step in the troubleshooting process, after verifying full system functionality. Documenting the findings helps to create a record
of the problem and the solution, which can be useful for future reference or training purposes. Questioning the users, determining if anything has changed, and
gathering information are steps that precede verifying full system functionality in the troubleshooting process. References: The Official CompTIA IT Fundamentals
(ITF+) Student Guide (Exam FC0-U61), Chapter 2: IT Concepts and Terminologyl

NEW QUESTION 73
Which of the following types of encryptions would BEST protect a laptop computer in the event of theft?

A. Disk

B. Email
C. VPN

D. HTTPS
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Answer: A

Explanation:

Disk encryption is a type of encryption that protects the entire contents of a hard drive or a removable storage device by using a secret key to scramble the data.
Disk encryption would best protect a laptop computer in the event of theft because it would prevent unauthorized access to the data on the laptop. Email, VPN, and
HTTPS are not types of encryption that protect the entire contents of a laptop computer. References: CompTIA IT Fundamentals+ Study Guide: Exam FC0-U61,
Second Edition, Chapter 8: Security Concepts, page 308.

NEW QUESTION 77
Ann, a user, is experiencing difficulty getting her IP-based security camera to function at her house after a rain storm that caused a power interruption. The camera
has an LED light indicating it has power. Which of the following is MOST likely the problem?

A. The power interruption caused the camera to malfunction.
B. Ann has a compatibility problem with the camera.

C. A firmware update needs to be applied to the camera.

D. Ann’s Internet connection and wireless router are still down.

Answer: D

Explanation:

Ann’s IP-based security camera requires an Internet connection and a wireless router to function properly. The camera has an LED light indicating it has power,
which means it is not malfunctioning due to the power interruption. However, the power interruption may have affected Ann’s Internet connection and wireless
router, which are still down. This would prevent the camera from communicating with the network and the

cloud service that stores the video footage. References : The Official CompTIA IT Fundamentals (ITF+) Stu Guide (FC0-U61), page 178.

NEW QUESTION 79
Which of the following is MOST likely used to represent international text data?

A. ASCII

B. Octal

C. Hexadecimal
D. Unicode

Answer: D

Explanation:

Unicode is the most likely encoding standard used to represent international text data. Unicode is a universal character set that can encode over a million
characters from different languages, scripts, symbols, and emojis. Unicode supports multiple encoding forms, such as UTF-8, UTF-16, and UTF-32, that use
different numbers of bytes to represent each character. Unicode enables consistent and interoperable representation and processing of text data across different
platforms and applications. References : The Official CompTIA IT Fundamentals (ITF+) Study Guide (FC0-U61), page 138.

NEW QUESTION 83
A company is concerned with ensuring its databases are highly available. Which of the following can be used to increase database availability?

A. Backups
B. Prioritization
C. Indexes
D. Failover

Answer: D

Explanation:

Failover is a technique that ensures high availability of databases by switching to a backup or standby server in case of a primary server failure. Failover can be
automatic or manual, depending on the configuration. Failover can prevent data loss and downtime for critical applications that rely on databases. References: The
Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 5, Section 5.3, Page 222.

NEW QUESTION 88
Which of the following storage devices have a spinning disk? (Choose two.)

A. Optical drive
B. SSD

C. HDD

D. Flash drive
E. RAM

F. ROM

Answer: AC

Explanation:

Optical drive and HDD are the examples of storage devices that have a spinning disk among the given options. A spinning disk is a component of a storage device
that rotates at high speed to store and access data on its surface. A spinning disk is usually made of metal, glass, or plastic and coated with a magnetic material. A
spinning disk has one or more read/write heads that move across the disk to read or write data on concentric tracks or sectors. An optical drive is a storage device
that uses laser beams to read or write data on optical discs, such as CDs, DVDs, or Blu-ray discs. An HDD (hard disk drive) is a storage device that uses magnetic
fields to read or write data on hard disks. References : The Official CompTIA IT Fundamentals (ITF+) Study Guide (FC0-U61), page 38-39.

NEW QUESTION 93
Which of the following are benefits of a security awareness training program9 (Select two).
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A. Enhances overall security

B. Provides information on how to avoid phishing
C. Lowers the incidence of hardware failures

D. Increases the availability of computers

E. Advances end users' technical skills

F. Creates IT security opportunities for end users

Answer: AB

Explanation:

The benefits of a security awareness training program are enhancing overall security and providing information on how to avoid phishing. Enhancing overall
security is a benefit of a security awareness training program because it helps users understand the importance and value of security for themselves and their
organization. It also helps users develop good security habits and behaviors, such as choosing strong passwords, locking their devices, reporting incidents, etc.,
which can prevent or reduce security risks and threats. Providing information on how to avoid phishing is a benefit of a security awareness training program
because it helps users recognize and respond to phishing attacks, which are one of the most common and effective types of social engineering attacks. Phishing
attacks involve sending fraudulent emails or messages that appear to come from legitimate sources to trick recipients into clicking on malicious links or
attachments, or providing personal or financial information. A security awareness training program can teach users how to identify phishing signs, such as spelling
errors, generic greetings, urgent requests, etc., and how to verify the sender, the URL, or the attachment before opening or responding. Lowering the incidence of
hardware failures is not a benefit of a security awareness training program, but rather a benefit of a hardware maintenance program. A hardware maintenance
program involves performing regular checks and repairs on the physical components of a system or network, such as disks, memory, CPU, power supply, etc., to
ensure their proper functioning and performance. A hardware maintenance program can prevent or reduce hardware failures, which can cause data loss,
corruption, or interruption for the system or network and its users. Increasing the availability of computers is not a benefit of a security awareness training program,
but rather a benefit of a backup and recovery program. A backup and recovery program involves creating and restoring copies of data or systems in case of data
loss, corruption, or disaster. A backup and recovery program can increase the availability of computers by ensuring that users can access their data or systems
from alternative sources or locations in case of an emergency. Advancing end users’ technical skills is not a benefit of a security awareness training program, but
rather a benefit of a technical training program. A technical training program involves teaching users how to use various technologies or applications effectively and
efficiently. A technical training program can advance end users’ technical skills by increasing their knowledge, competence, and productivity with the technologies
or applications they use. Creating IT security opportunities for end users is

not a benefit of a security awareness training program, but rather a benefit of a career development program. A career development program involves providing
users with guidance and resources to help them achieve their professional goals and aspirations. A career development program can create IT security
opportunities for end users by exposing them to different IT security roles, paths, or certifications that they can pursue or obtain. References: The Official CompTIA
IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 7: Security Concepts

NEW QUESTION 95
Which of the following operating systems do not require extensions on files to execute a program? (Select TWO).

A. Windows 7

B. Windows 8

C. UNIX

D. Windows Server 2012
E. Android

F. Linux

Answer: CF

Explanation:

UNIX and Linux are the examples of operating systems that do not require extensions on files to execute a program. UNIX and Linux are operating systems that
are based on the same kernel and share many features and commands. UNIX and Linux do not rely on file extensions to determine the file type or function.
Instead, they use file permissions and attributes to indicate whether a file is executable or not. File extensions are optional and mainly used for human readability
or compatibility with other systems. References : The Offici CompTIA IT Fundamentals (ITF+) Study Guide (FC0-U61), page 86.

NEW QUESTION 100
Which of the following best describes when lo use an array?

A. The user needs to store multiple values in one object.

B. The user needs the object to store one value and to be changeable.
C. The user needs one object to store numbers only.

D. The user needs the object to store one value permanently.

Answer: A

Explanation:

The best description of when to use an array is when the user needs to store multiple values in one object. An array is a data structure that can store multiple
values of the same data type in an ordered sequence. An array can be accessed or modified by using an index or a position number that indicates the location of
each value in the array. An array can be useful when the user needs to store multiple values in one object that can be easily manipulated or iterated over by using
loops or functions. The user does not need the object to store one value and to be changeable when using an array, but rather when using a variable. A variable is
a data structure that can store one value of any data type in memory. A variable can be accessed or modified by using an identifier or a name that represents the
value in the variable. A variable can be useful when the user needs to store one value in an object that can be easily changed or reused throughout the program.
The user does not need one object to store numbers only when using an array, but rather when using a numeric data type. A numeric data type is a category of
data that can store numbers in various formats or ranges, such as integers, floating-point numbers, complex numbers, etc. A numeric data type can be useful
when the user needs one object to store numbers only that can be used for calculations or comparisons in the program.

NEW QUESTION 102
Given this example: FEB8077911AB12TB
Which of the following is being represented?

A. MAC address
B. String

C. Hexadecimal
D. Unicode
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Answer: C

Explanation:

The example FEB8077911AB12TB is being represented as hexadecimal. Hexadecimal is a number system that uses 16 symbols to represent values from O to 15.
The symbols are 0-9 for values from 0 to 9, and A-F for values from 10 to 15. Hexadecimal is often used to represent binary data in a more compact and readable
form, such as MAC addresses, color codes, or memory addresses. A MAC address is a unigue identifier for a network interface card (NIC) that consists of 12
hexadecimal digits separated by colons or dashes. A string is a sequence of characters that can be used to store text or other data types. A string can contain
hexadecimal digits, but it can also contain other symbols or characters. Unicode is a standard for encoding characters from different languages and scripts into
binary data. Unicode can use hexadecimal digits to represent characters, but it also requires other symbols or codes to indicate the encoding scheme. References:
The Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 2: IT Concepts and Terminologyl

NEW QUESTION 104
Given the following lines:

2Ccno pPigase laad Tha kids!l

This is an example of:

A. a flowchart.
B. looping.

C. an assembly.
D. pseudocod

Answer: D

Explanation:

The example given is an example of pseudocode. Pseudocode is a way of writing the logic of a program or an algorithm in a simplified and informal language that
resembles natural language or code, but does not follow the syntax or rules of a specific programming language. Pseudocode is often used to plan, design, or
explain a program or an algorithm before writing the actual code. A flowchart is a way of representing the logic of a program or an algorithm using symbols and
arrows that show the sequence of steps and decisions. A flowchart is often used to visualize, analyze, or document a program or an algorithm. Looping is a way of
repeating a set of statements or actions in a program or an algorithm until a certain condition is met. Looping is often used to perform iterative tasks, such as
counting, searching, or sorting. An assembly is a way of writing the instructions of a program or an algorithm in a low-level language that corresponds to the
machine code of a specific processor. An assembly is often used to create programs that run fast and efficiently, but it is difficult to read and write. References:
The Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 8: Software Development Conceptsl

NEW QUESTION 106
A systems administrator is setting up an output device that supports both USB and network capability. Which of the following devices is the administrator most
likely installing?

A. Scanner
B. Camera
C.SSD

D. Printer

Answer: D

Explanation:

The device that the administrator is most likely installing is a printer. A printer is an output device that supports both USB and network capability, meaning that it
can be connected to a computer or a network using either a USB cable or a wireless or wired network connection. A printer can produce hard copies of
documents, images, or other data on paper or other media. A scanner is an input device that supports both USB and network capability, meaning that it can be
connected to a computer or a network using either a USB cable or a wireless or wired network connection. A scanner can capture images or text from paper or
other media and convert them into digital data. A camera is an input device that supports both USB and network capability, meaning that it can be connected to a
computer or a network using either a USB cable or a wireless or wired network connection. A camera can capture images or videos and store them as digital data.
An SSD stands for Solid State Drive, which is a type of storage device that supports both USB and network capability, meaning that it can be connected to a
computer or a network using either a USB cable or a wireless or wired network connection. An SSD uses flash memory chips to store data persistently even when
the power is turned off. References: The Official CompTIA IT Fundamentals (ITF+) Student Guide (Exam FC0-U61), Chapter 1: IT Fundamentalsl

NEW QUESTION 111
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